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QUESTION 1

A customer intends to use an E2812 system without expansion shelves. The specification for their Windows host
requires that six E-Series data volumes be used.

In this scenario, how should the system be configured?
A. one DDP with all the volumes

B. three DDPs with the volumes divided equally

C. one DDP for each volume

D. two DDPs with the volumes divided equally

Correct Answer: A

Reference: https://www.netapp.com/us/media/tr-4725.pdf (37)

QUESTION 2

An administrator is asked to provision a 1 TB volume to hold non-critical temporary data for a seismic-analysis
application. The volume requires the highest possible IOPS.

In this scenario, which configuration would satisfy this requirement?
A. RAID 6 Dynamic Disk Pool with a 256 KiB segment size

B. RAID 5 volume group with a 256 KiB segment size

C. RAID 0 volume group with a 32 KiB segment size

D. RAID 6 Dynamic Disk Pool with a 32 KiB segment size

Correct Answer: B

QUESTION 3

Click the Exhibit button.
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E2812 and E2824 controller shelf and EF280 flash array:

Weight
Unit Weight
Maximum™® Empty** Shipping***
E2812 controller shelf. with twelve | 63.91b 17.08 (7.75 kg) 80 1b (36.2 kg)

3.5 1n. (8.89 cm) SAS-3 drives each | (29.0 kg)
with 6 TB capacity
E2824 controller shelf and EF280 €0.5 Ib 17.41b (7.89 kg) 911b (41.2 kg)
tlash array. with twenty-four 2.5 in. | (27.4 kg)
(6.35) SAS-3 drives each with 900
GB capacity

* Maximum weight incicates a controller shelf, fully-loaded with the heaviest drives and all other

components installed. Because drive weights can vary greatly, this value can vary, depending on
the drrves installed. Refer to the next table for weight ranges by drive type.

*# Empty weight indicates a controller shelf with the controller canister. the power fan-canister,
and the drives removed.

##%* Shipping weight indicates the maximum weight of the controller shelf and all shipping

waierial.

Component Weight
Controller canister 5471b(2.48 ke)
Power-fan canister 5.21b(2.35 kg)
25 in. SAS drive 0.61b (027 kg)
3.5 in. SAS drive 2.09 1b(0.95 kg)
2.5 in. SSD (solid-state disk) 1.331b(0.6 ke)

A customer has a raised floor with a weight limit of 700 Ib. per floor tile. The customer\\'s data cabinet weights 90 Ib. and
covers a single floor tile.

Referring to the exhibit, what is the maximum number of E2824 shelves possible to be installed?
A 22

B. 10

C.6

D. 14

Correct Answer: A

QUESTION 4
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A junior administrator recently made changes to an E-Series system. As a result of these changes, the management
host lost the ability to manage the E-Series system through in-band management, but the host still has access to the E-
Series data volumes.

In this scenario, what caused this issue?

A. The access volume was un-mapped

B. The management IPs were changed

C. The ownership of the management host\\'s volumes changed

D. Auto Load Balancing was disabled

Correct Answer: B

QUESTION 5

When working on a customer\\'s E-Series system to configure LDAP, you realize that you need to complete a Certificate
Signing Request to receive a certificate.

In this scenario, when entering the information for the CSR, what information do you need from the controllers
themselves? (Choose three.)

A. the controller\\'s alternate IP addresses
B. the controller\\'s serial number

C. the controller\\'s geographical location
D. the controller\'s common name

E. the controller\\'s alternate names
Correct Answer: ADE

Reference: https://mysupport.netapp.com/NOW/public/eseries/sam_archive1130/index.html#page/GUID8538272A-
B802-49D9-9EA2-96C82DAD26A2/GUID-A062373E-F378-43B7-9E73-1B27E9136655.html
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